
292 THE  COM PLETE  FAS TENER LINE   "SINCE 1916"  © Copy right 2013, Au-ve-co Prod ucts Co.

Sec. 15 ”6000” SE RIES SMALL DRAWER “FIX-KITS”®

No. 6011 “Fix-Kit”
Slot ted Round Head 

Ma chine Screws
Zinc Plated

19 Va ri et ies of Screws
5 Va ri et ies of Nuts - 1110 Pieces

Auveco
Part No. Size

727 6-32 Nut
728 8-32 Nut
729 10-32 Nut
730 10-24 Nut
731 12-24 Nut

2530 6-32 x 1/2"
2531 6-32 x 3/4"
2532 6-32 x 1"
2533 8-32 x 1/2"
2534 8-32 x 3/4"
2535 8-32 x 1"
2536 10-32 x 1/2"
2537 10-32 x 3/4"
2538 10-32 x 1"
2539 10-32 x 1-1/4"
2540 10-32 x 1-1/2"
2541 10-24 x 1/2"
2542 10-24 x 3/4"
2543 10-24 x 1"
2544 10-24 x 1-1/4"
2545 10-24 x 1-1/2"
2546 12-24 x 1/2"
2548 12-24 x 1"
2550 12-24 x 1-1/2"

No. 6160 “Fix-Kit”
Met ric Reg u lar Pitch 
Cap Screws & Nuts

DIN 933
Zinc Plated

12 Va ri et ies Of Screws
4 Va ri et ies Of Nuts - 236 Pieces

Auveco
Part No. Size

14400 M4-.7 x 16mm
14401 M4-.7 x 20mm
14402 M5-.8 x 10mm
14403 M5-.8 x 16mm
14404 M5-.8 x 20mm
14405 M5-.8 x 25mm
14408 M6-1.0 x 16mm
14409 M6-1.0 x 20mm
14410 M6-1.0 x 25mm
14420 M8-1.25 x 20mm
14421 M8-1.25 x 25mm
14422 M8-1.25 x 30mm
14448 M4-.7 Nut
14449 M5-.8 Nut
14450 M6-1.0 Nut
14452 M8-1.25 Nut

No. 6073 “Fix-Kit”
Socket Head Set Screws

47 Va ri et ies Screws 
540 Pieces

Auveco
Part No. Size

5366 6-32 x 1/4"
5367 6-32 x 5/16"
5368 6-32 x 3/8
5370 8-32 x 1/4"
5371 8-32 x 5/16"
5372 8-32 x 3/8"
5373 8-32 x 1/2"

Auveco
Part No.

USS SAE Size

5374 5394 10 x 3/16"
5375 5395 10 x 1/4"
5376 5396 10 x 5/16"
5377 5397 10 x 3/8"
5378 5398 10 x 1/2"
5379 5399 1/4 x 1/4"
5380 5400 1/4 x 5/16"
5381 5401 1/4 x 3/8"
5382 5402 1/4 x 7/16"
5383 5403 1/4 x 1/2"
5384 5404 5/16 x 1/4"
5385 5405 5/16 x 5/16"
5386 5406 5/16 x 3/8"
5387 5407 5/16 x 7/16"
5388 5408 5/16 x 1/2"
5389 5409 3/8 x 5/16"
5390 5410 3/8 x 3/8"
5391 5411 3/8 x 7/16"
5392 5412 3/8 x 1/2"
5393 5413 3/8 x 5/8"

Re mem ber....

All Items In This

Cat a log Are

Avail able In Bulk.

Call For A Quote.

No. 6007 “Fix-Kit”
Tu bu lar, Flat, “U” & “J” Nuts

24 Va ri et ies - 515 Pieces

Auveco
Part No. Size

1903 1/4"-20 Flat
2089 #6-32 Flat
2092 #10-24 Flat
2099 1/8" Stud Flat
2103 3/16" Stud Flat
2105 1/4" Stud Flat
2293 1/4"-20 “U”
2346 #8 “J”
2422 #10 “U”
2595 1/8" Stud Tu bu lar
2611 1/8" Stud Tu bu lar
5170 3/8"-16 “J” Cage
5197 #10-24 “U”
5586 1/4"-20 “J” Cage
5589 5/16"-18 “J” Cage
9879 #8 Spring “U”
9880 #8 Spring “U”

10064 #6 Spring “U”
10065 #8 Spring “U”
10066 #10 Spring “U”
10067 #14 Spring “U”
10666 #8 “U”
11292 #8 “U”
11429 #10 “U”

No. 6070 “Fix-Kit”
Shakeproof Lock Wash ers

(Ex ter nal - In ter nal Coun ter sunk)
Zinc Plated

24 Va ri et ies - 1450 Pieces

Auveco
Part No. Size Type

5249 #4 Ex ter nal
5259 #4 In ter nal
5250 #6 Ex ter nal
5260 #6 In ter nal
5270 #6 Coun ter sunk
5251 #8 Ex ter nal
5261 #8 In ter nal
5271 #8 Coun ter sunk
5252 #10 Ex ter nal
5262 #10 In ter nal
5272 #10 Coun ter sunk
5253 #12 Ex ter nal
5263 #12 In ter nal
5254 1/4" Ex ter nal
5264 1/4" In ter nal
5255 5/16" Ex ter nal
5265 5/16" In ter nal
5256 3/8" Ex ter nal
5266 3/8" In ter nal
5257 7/16" Ex ter nal
5267 7/16" In ter nal
5258 1/2" Ex ter nal
5268 1/2" In ter nal
5274 1/4" Coun ter sunk


